Civil Services (Main)
Examination- 2025 faasa DETACHABLE

A (wga-a=10)
MANAGEMENT (Paper II)

fAefRa wwg : T o Sifermaw 3 : 250
Time Allowed : Three Hours Maximum Marks : 250
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QUESTION PAPER SPECIFIC INSTRUCTIONS
Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions No. 1 and § are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in a medium other than the authorized one.

Assume suitable data, if considered necessary, and indicate the same clearly.
Normal probability distribution table is attached for necessary reference.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer (QCA) Booklet must be clearly struck off.
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gvus ‘A’ SECTION ‘A’
1.(a)  TH ¢ 09:00 AM ¥ 09:30 AM & =¥ AT3fo0% a9d R & ©IF | AW arell § |
IEAfaE AR G99 36 a0 & HioR foRdt ot @ @ R wwE gwEEr ® |
(i) Sfua awrerar wac o (NEuw) aiemfya Hifs |
(ii) 09:13 AM & Ugal ¢H & A H FT GHET § ?
(i) SNfAT AP THT 3R AFHT G9F H R Farq |

(iv) ¥ 3@ 7T T 37 09:11 AM T 7 g 2, s smmm o v F1 § ?

A train is scheduled to arrive at a station at a random time between 09:00 AM and
09:30 AM. The actual arrival time is equally likely to be any moment within this
interval.

(i) Define a suitable probability density function (PDF).
(i) What is the probability that the train will arrive before 09:13 AM ?
(iii) Find the expected arrival time and the variance of the arrival time.
(iv) Given that the train has not arrived by 09:11 AM, what is the expected arrival
time ? 10

1.(b) N=5000 TG H q IA & heR H GF a9 TT & {oIQ AawTH FT
smar faaifa $if |

fiea R w s asm o afeda 121 7@ & | 38 aneeq @ 3l|a 999 &
2:5 UM & IR 99% WA & I BT e |

R BH AT ATSTG A of, AT FT A o AR H R BN ? 3R &, ar feraa
BRI, EHATEY | (AR Eo ©)

Determine the required sample size for estimating the true weight cereal container
from a population of N = 5000.

Based on the past records variance of weight is 121 grams and this estimate should
be within 2-5 grams of the true average weight with 99% confidence.

Will there be a change in the size of the sample if we assume population to be
infinite ? If so, explain by how much ? (Table enclosed) 10
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AREAS UNDER THE STANDARD NORMAL DISTRIBUTION
The entries in this table are the probabilities that a standard normal variate is
between 0 and Z (the shaded area)

0 Z

z 0.00 | 001 | 002 | 003 | 004 | 005 | 006 | 007 | 008 | 009 -
0.0 | 0.0000 | 0.0040 | 0.0080 | 0.0120 | 0.0160 | 0.0199 | 0.0239 | 0.0279 | 0.0319 | 0.0359
0.1 | 0.0398 | 0.0438 | 0.0478 | 0.0517 | 0.0557 | 0.0596 | 0.0636 | 0.0675 | 0.0714 | 0.0753
0.2 | 0.0793 | 0.0832 | 0.0871 | 0.0910 | 0.0948 | 0.0987 | 0.1026 | 0.1064 | 0.1103 | 0.1141
0.3 | 0.1179 | 01217 | 0.1255 | 0.1293 | 0.1331 | 0.1368 | 0.1406 | 0.1443 | 0.1480 | 0.1517
0.4 | 0.1554 | 0.1519 | 0.1628 | 0.1664 | 0.1700 | 0.1736 | 0.1772 | 0.1808 | 0.1844 | 0.1879
0.5 | 0.1915 | 0.1950 | 0.1985 | 0.2019 | 0.2054 | 0.2088 | 0.2123 | 0.2157 | 0.2190 | 0.2224
0.6 | 0.2257 | 0.2291 | 0.2324 | 0.2357 | 0.2389 | 0.2422 | 0.2454 | 0.2486 | 0.2517 | 0.2549
0.7 | 0.2580 | 0.2611 | 0.2642 | 0.2673 | 0.2704 | 0.2734 | 0.2764 | 0.2794 | 0.2823 | 0.2852
0.8 | 0.2881 | 0.2910 | 0.2939 | 0.2967 | 0.2995 | 0.3023 | 0.3051 | 0.3078 | 0.3106 | 0.3133
0.9 | 03159 | 0.3186 | 0.3212 | 0.3238 | 0.3264 | 0.3289 | 0.3315 | 0.3340 | 0.3365 | 0.3389
1.0 | 03413 | 0.3438 | 0.3461 | 0.3485 | 0.3508 | 0.3531 | 0.3554 | 0.3577 | 0.3599 | 0.3621
11 | 0.3643 | 0.3665 | 0.3686 | 0.3708 | 0.3729 | 0.3749 | 0.3770 | 0.3790 | 0.3810 | 0.3830
1.2 | 0.3849 | 0.3869 | 0.3888 | 0.3907 | 0.3925 | 0.3944 | 0.3962 | 0.3980 | 0.3997 | 0.4015
1.3 | 0.4032 | 0.4049 | 0.4066 | 0.4082 |-0.4099 | 0.4115 | 0.4131 | 0.4147 | 0.4162 | 0.4177
1.4 | 04192 | 04207 | 0.4222 | 0.4236 | 0.4251 | 0.4265 | 0.4279 | 0.4292 | 0.4306 | 0.4319
15 | 0.4332 | 0.4345 | 0.4357 | 0.4370 | 0.4382 | 0.4394 | 0.4406 | 0.4418 | 0.4429 | 0.4441
1.6 | 0.4452 | 0.4463 | 0.4474 | 0.4484 | 0.4495 | 0.4505 | 0.4515 | 0.4525 | 0.4535 | 0.4545
1.7 | 04554 | 0.4564 | 0.4573 | 0.4582 | 0.4591 | 0.4599 | 0.4608 | 0.4616 | 0.4625 | 0.4633
1.8 | 04641 | 0.4649 | 0.4656 | 0.4664 | 0.4671 | 0.4678 | 0.4686 | 0.4693 | 0.4699 | 0.4706
1.9 | 04713 | 04719 | 0.4726 | 0.4732 | 0.4738 | 0.4744 | 0.4750 | 0.4756 | 0.4761 | 0.4767
2.0 | 04772 | 04778 | 0.4783 | 0.4788 | 0.4793 | 0.4798 | 0.4803 | 0.4808 | 0.4812 | 0.4817 -
2.1 | 04821 | 0.4826 | 0.4830 | 0.4834 | 0.4838 | 0.4842 | 0.4846 | 0.4850 | 0.4854 | 0.4857
2.2 | 04861 | 0.4864 | 0.4868 | 0.4871 | 0.4875 | 0.4878 | 0.4881 | 0.4884 | 0.4887 | 0.4890
2.3 | 04893 | 04896 | 0.4898 | 0.4901 | 0.4904 | 0.4906 | 0.4909 | 0.4911 | 0.4913 | 0.4916
2.4 | 04918 | 04920 | 0.4922 | 04925 | 0.4927 | 0.4929 | 0.4931 | 0.4932 | 0.4934 | 0.4936
2.5 | 04938 | 0.4940 | 0.4941 | 0.4943 | 0.4945 | 0.4946 | 0.4948 | 0.4949 | 0.4951 | 0.4952
2.6 | 04953 | 0.4955 | 0.4956 | 0.4957 | 0.4959 | 0.4960 | 0.4961 | 0.4962 | 0.4963 | 0.4964
2.7 | 04965 | 0.4966 | 0.4967 | 0.4968 | 0.4969 | 0.4970 | 0.4971 | 0.4972 | 0.4973 | 0.4974
2.8 | 04974 | 0.4975 | 0.4976 | 0.4977 | 0.4977 | 0.4978 | 0.4979 | 0.4979 | 0.4980 | 0.4981
2.9 | 04981 | 0.4982 | 0.4982 | 0.4983 | 0.4984 | 0.4984 | 0.4985 | 0.4985 | 0.4986 | 0.4986
8.0 | 04987 | 0.4987 | 0.4987 | 0.4988 | 0.4988 | 0.4989 | 0.4989 | 0.4989 | 0.4990 | 0.4990

SN SRS I I RS [
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1.(c)

sfte Hew Searea & Frdwar areht fafamior gler § wfrn weei 1 sigwEw @ guR
¥ e wiferh o frw I R A TR S G RS A @
FfwE ¥, 20 sAFtE ag e S 6 TAw TF Iered T e e
3, T TaE ANt A Fen oo A ¢ | e & e e g g steRs A g
T ¥

e
&

Qe A
Rt

Iudth TR &1 STERT R g

() ¥3 Y@ (dow), s Few d@m (qEE) ok Frach e
(Tereliue) = frafor R |

(i) STh frem =é s ifvig ik afomm & e fif |

A manufacturing facility specializing in Sheet Metal Production has implemented a
Statistical Quality Control Program to monitor and improve process performance.
As a part of this initiative, an Engineer has recorded the number of visible surface
defects identified on 20 sequential metal sheets, each representing one production
unit. The data collected during this inspection phase are given below :

Sheet

Mo 112131456 7]8|9|10[11{12]|13|14|15|16{17|18|19|20

Defect
Counts

Using the above information :

(i) Determine the Center line (CL), Upper control limit (UCL) and Lower control
limit (LCL).

(ii) Plot the appropriate Control Chart and interpret the result. 10
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1.(d)

ATechSquﬁons@WBWiﬁméamfﬁ%ﬁﬁﬂgwa?ﬁqw
HEIEA T sad yonferdt 7 faiwwar et ® | ot ¥ son aferem & s s
FYR Reen | agd aftw ok o= gq 37 spram i whrn ok R v @
aheAdl Teoh feforeefienr o= forar 2 | aanfy s w=oE Al F AEeR 9w
foeen =t wg-wma ® faeaaet @ oqwa g @ | fred 20 WA § 9N R
qTferehl # A Y SAHS F FTAR FgeX Rreew @ w0 E -

IF TS h ST BN &
& geE AT <l gEar

0 4
1 8
7. 6
. 2

W @ §9 H ¢ AR TG T F FRO NG 74500/~ THA ST £ | SO
frare o & & # frares @@ & fog afe A sy w e w2
IR FOA FHT R TEER R A auH H 6T T TF W AL 2R 1 Inie
® 3R 3gey & @af T3300/- T WEN o |

a%m%mmmaﬁqﬁﬁﬁwﬁaﬁw%ﬁqaﬁa
FRAT AU AT G ?

A Tech Solutions is a mid-sized IT consulting company specializing in automated HR
and payroll systems for small business. The company has successfully digitized most
of its operations, relying heavily on its internal computer systems for payroll
processing and report generations. However, despite its automation efforts, the

-computer system has experienced periodic failures. Over the past 20 months, the

computer system has broken down as indicated in the table below :

Number of | Number of months that
Breakdowns Breakdown occurred
0 4
1 8
2 6
3 2
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1.(e)

2.(a)

Each breakdown results in an average loss of ¥4500/- due to time delay and technical
service expenses. As a preventive measure, company is considering a monthly service
contract for preventive maintenance. If they sign up for the contract, the average
number of breakdowns is expected to decrease to 1 per month, and the contract
would cost ¥3300/- per month.

Based on the given information, advise that the company should go for contract for
preventive maintenance or not ? 10

TWER, ST AR AR § § ToHa & Al F STGH SR od G ATA AT
faveror fifo |

Critically analyse the advantages of E Governance for Government, Public and
Business giving suitable examples. 10

Z@W.mﬁ%ZOIS-ZOMWWﬁWtﬁﬁﬁgﬂQrﬁ-ﬁiﬁt{i"r?ﬁ%
AT

EL ﬁ'eg?l ufes & 7T (Megawatts)
2018 94
2019 99
2020 100
2021 110
2022 125
2023 162
2024 142

70 3@ H I A g e 7 wifer & s wafa Yar grr ad 2025 % fog
AT & gagAT @y |
The electrical power demand of TATA Power Corporation from 2018 to 2024,

measured in megawatts, is provided below. Using the data, forecast the demand
for the year 2025 by fitting and plotting the linear trend line.

Year Electrical Power Demand (Megawatts)

2018 94

2019 99

2020 100

2021 110

2022 125

2023 162

2024 142 15
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2.(b)  SHSlA A 9Y ATERT & T WHR I YHTEAAT H HATH A & ol T 1&g
# gy f TOE YR & IR A fgam F a9 9R (v #) g w1 R
femam |

IRTA |45 |48 |47 | 50 |46 |49 | 47 | 48

IRIB [ 51 |53 [ 52|55 |50 |52 |54 (33

(i) 3FR BH Ml Tl H @aA AMd © A ¥ &9 I8 s e aena € 6
Hed &R 0025 | 9K B IR A ¥ Aferh yore § ?

(ii) TS THRT H 98 GG QHI 9RI H UH I & aF 0-01 Feed &R R 0 AHA
Ht At S Ffg | (ARt T )

In a study to evaluate the effectiveness of two different animal feeds, researchers
recorded the weight gains (in kilograms) of animals after fed each type of feed.

Feed A | 45 | 48 | 47 | 50 | 46 | 49 | 47 | 48
Feed B [ 51 |53 15255505254} 33

(1) If the two samples are considered independent, can we conclude that Feed B
is more effective than Feed A at the 0-025 level of significance ?

(1) Also examine the case if the same set of eight animals received both feeds,
and test at the 0-01 level of significance. (Table enclosed) 15

2.(c)  Techline Pvt. Ltd. T Zafdesh IUIHT Scdted ohal & W X, Y 3R Z o9 @
TS AISd SN § | FIA Fod AT G HH o e, o Aecaqul GareHl i aransit
& ded w1 Hdl B | YA GHIE hed A h Suelsudt 800 kg I difiq § siafe
arﬁa:mmmommsam%ﬁﬁa%lwaﬁa&mm%ﬁm,m
gaTeEl A IR fohu fomn v Saare 6t amnfes fohadt saat sad §, @ ol
FIAT B AT © | Wds IAIE & WEhe faekwr e few € )

IeqTg wfa gfre wia gfre wit gfie e
F=a1 71 (Kg) 5| (92) TG (¥99)

X 6 5 80
Y 4 - 60
Z 2 3 40
(i) Maw wnnfam ewen (Ta dqt 9f) gR1 sEa S fom & fog afgw dar
HIfg |
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TABLE 6
STUDENT’S ¢ DISTRIBUTION

The first column lists the number of degrees of
freedom (v). The headings of the other columns give
probabilities (£ ) for ¢ to exceed the entry value. Use.

symmetry for negative  values. R
‘i
y 10 05 025 01 005
1 3.078 6.314 12.706 31.821 63.657
2 | 1.886 2.920 4.303 6.965 9.925
3 1.638 2.353 3.182 4.541 5.841
4 1.533 2.132 2.776 3.747 4.604
5 1.476 2.015 2.571 3.365 4.032
6 1.440 1.943 2.447 3.143 3.707
7 1.415 1.895 2.365 2.998 3.499
8 1.397 1.860 2.306 2.896 3.355
9 1.383 1.833 2.262 2.821 3,250
10 1.372 1.812 2.228 2.764 3.169
1 1.363 1.796 2.201 2.718 3.106
12 1.356 1.782 2.179 2.681 3.055
13 1.350 1771 2.160 .2.650 3.012
14 1.345 1.761 2.145 2.624 2.977
15 1.341 1.753 2:131 12.602 2 947
16 1.337 1.746 2120 2.583 2.921
17 1.333 1.740 2.110 2.567 . 2.898
18 1.330 1.734 2.101 2.552 2.878
19 1.328 1.729 2.093 2.539 2.861
20 1.325 1.725 2.086 2.528 2.845
21 1.323 1.721 2.080 2.518 2.831
22 1.321 1.717 2.074 2.508 2.819
23 1.319 1.714 2.069 2.500 2.807
24 1.318 .71 2.064 2.492 2.797
25 1.316 1.708 2.060 2.485 2.787
26 1.315 1.706 2.056 2.479 2.779
27 1.314 1.703 2.052 2.473 2.771
28 1.313 1.701 2.048 2.467 2.763
29 1.311 1.699 2.045 2.462 2.756
30 1.310 1.697 2 042 2.457 2.750
40 1.303 1.684 2.021 2.423 2.704
60 1.296 1.671 2.000 2.390 2.660
120 1.289 1.658 1.980 2.358 2.617
o 1.282 1.645 1.960 2.326 2.576
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3.(a)

(if) 3R FOl Th ¢ IR W, AT gfE 2 kg w0 W 9 9 AW e A
ﬁmaﬁ%aaﬁaﬂﬁmm%mmﬁﬁwﬁﬁm

TR FFATG Wl gfie g 235/ ¥
FTFOA H T A IAG H A JeATGT BE F o iy 2

Techline Pvt. Ltd. is a consumer electrics manufacturing concern producing three
models of Smart Devices : X, Y and Z. The company operates under the constraints
of two key resources, viz. raw materials and labor hours. Each week, the availability
of raw materials is restricted to 800 kg, while labor availability is limited to
600 hours. To maximize profit, the company needs to decide, how many units of
each product to manufacture weekly without exceeding the available resources.
The relevant details for each product are provided below :

Product | Raw Material Labor Hours Profit contribution
per unit (Kg) per unit (Hours) per unit (%)
X 6 5 80
Y 4 4 60
Z 2 3 40

(i) Formulate this scenario as a Linear Programming Problem (LPP), and solve
it for optimal product mix.

(i) Based on the optimal solution, analyze the situation if the company wants to
introduce a New product W, requiring 2 kg of raw materials and 2 hours of
labor hours per unit. Its estimated profit contribution is 35/- per unit.

Should the company include this new product in its production mix ? 20

TF FA A frlt awg B arfiE w1600 s ¥ fred qww o s 270 2
e BIfeST AT T Yok & w9 A 18%, 1 F 0 1%, T A0 F e
& forw 1.5% s, wem suRem 22.50, @y @l ¥ fro 23.40 Rk Rfvy wwr
370 ¥ | WS MR ¥ #F SR A 100/~ W @S Irar 2

@) mﬁamﬁrw(éaﬁ@ﬁmﬁﬁqaﬁ?mﬁmﬁﬁwm
T ST |

(i) wf%a@ﬁmam%hﬁfzsowsﬁ%@w(éa)ﬁéﬁwaﬂm%ﬁw
IRa g orE & wwifea enm

(i) fer Ff % @ @ dwen wE R, sffedt aw Ry sER ¥
HAEFEERATIA # el ¢ B TR © | 3R 100 975 B Tt @ Wier fgar i
HHAT ® 1 8w ey (mERar) Ay @ e sk wefim @ F@m 2w 2
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3.(b)

A company has an annual demand of 1600 units for an item, whose unit cost is
Z70/-. The annual holding cost comprises 18% for interest charges, 1% for insurance,
1-5% allowances for obsolescence of unit cost and ¥2-50 for building overheads,
3-40 for damage loss, and ¥7-0 miscellaneous costs. Placing each order costs the

company T100/-.

(i) Calculate Economic Order Quantity (EOQ) and the total costs of stocking
the units.

(i) If the supplier of the items will only deliver batches of 250 units, how is the
total variable cost influenced ?

(iii) If the supplier relaxes their order size requirements, as the company has limited
storage space it can stock a maximum of 100 units at any time. What would be
the optimal ordering policy and associated costs ? 15

freffaa wr Friem @wen @ IR 7éA & fag fem Hifi ;

Frafa wma | afis @ 9 | S9UE A
IqTeA &HdT /A8 900 units 300 units 200 units
IcqIed AT /3HT8 %6/- Z8/- Z9/-

s R WEAT % forg Wi qEfgEe s 1300, 1400, 1225 3R 1475 39T R |
frft o e B w B gl TG T | IR WA 50 THE § AR FET wWA
H anE T1-60 wia 3o wia w18 © |

T GHET B 99 AT ST HET |

Consider the following aggregate planning problem for four months :

Regular time Overtime Subcontracting

Production capacity/month 900 units 300 units 200 units

Production cost/unit Z6/- Z8/- %9/-

The forecasted demand for the next four months is 1300, 1400, 1225 and 1475 units
respectively. Shortages are not permitted. The initial inventory is 50 units, and the
carrying cost is ¥1-60 per unit per month.

Provide the aggregate plan for this problem. 15
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3.(c)

Quick Industries % gRT wAiford wegH frAwr 3k @i & fw @ Tu
TR firen | AR & @ ¢ | @ e Tk 3 firen wnfie =3 & fog

Freafafea s € €.
wfafafy wfafafy TeehTel g (fet #)
TeTH forazm gead! | gad Al | aed ot | wed
FymETSt | gewrEAr | FRymErd
A | FER Aled & | - 5 7 9
3Ye / ATSCYE
B o A 6 8 16
Rreew aregaren it
C R A 5 9 13
FYX & Wifaw
D e B 16 21 26
E |%7 v & fosm | B 11 19 27
$Ye / ATSCYC <l
F o ¢ 9 10 17
G | 3cEd SA M E 5 9 13
H |fea & s D, F 2 3 4
I T U wEfEaT | G, H 2 8 9

(i) 38 TR § S 7 (Feadh) AR@ i | weagt 99 @ wgam S
AR fera i of eF w1 g Sqarsy |

(i) 61 feAt # z@ aRaeFT & R 8 N FwEaT H AT Hifve |

(i) 19 FH 95% fAfvaa o= et R 6 Rieew o T fifyr oo wnfig ==
e <, s Hifv 6 S8 fraw T o, = 9 wow @ =few |

SLPM-B-MGT

11



The warehouse owner of Quick Industries is considering a new computer system
for accounting and inventory control. A computer vendor sent the following
information about the system installation :

Activity Activity Immediate Time (Days)
Identification description Predecessor| Most Most Most
optimistic | likely | pessimistic
Selection of
- Computer Model - 9 4 3
Input/output
- System Design 8 b i e
Monitoring
3 System Design ‘ > ? "
Computer
D Hardware Assembly B 18 2l 26
E Development of
main Programs B 11 19 27
5
Input/output routines C 9 10 17
development
G Database Creation E 5 9 13
H Installation of the D, F ) 3 4
system
Testing and
! Implementation 9.5 # . 2
(i) Draw the network diagram for this information. Identify the Critical Path and
expected project completion time.
(ii) Calculate the probability that the project will be completed in 61 days.
(iii)) When the company wants to be 95% sure that the system will be installed by
a certain date, how many days prior to that should it start the work ? 20
4.(a) ) “dre # fade ol Hecagt wftee frama 8 17 fadew el & & |
IR AW 3 7C 3@ FA b T ifv |
“Expert Systems play a significant role in Organisations.” Discuss it giving
at least four benefits of Expert Systems. 10
(ii) mawﬁmﬁ%wwwaﬁ%ﬁ&mmﬁmﬁmﬂﬁwéﬁql

SLPM-B-MGT

Elaborate the different components of Expert Systems giving suitable
examples. 10
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4.(b) () “gEn "gaEe yeree foet @ed f uw omifds aeer ot €17 fer @
e Hif |

“Information Resource Management is a strategic plan of an organisation.”
Elaborate. 10

(i) G WAL Yo & FEtaad & fou @ ¥ weeg svm € AR w

foar T s =nfew 2
What are the important components that must be considered for imple-
mentation of Information Resource Management. 5

4.(c) () W& AR aaE | g gonelt H W g w awE |

Explain the fundamental role of Information Systems in business and
organisations. 5

(i) SPE G YO & FH ¥ F A6 TeAid FRE H1 Ioor@ HIT |

State at least eight evaluation factors for an excellent information system. 10

9us ‘B’ SECTION ‘B’
5. “wn fafim dR e we @ s Sel @l 4 Sl aifea g s S
frord % 27 et e i |

“Have various Chambers of Commerce and other Industry Associations played
their desired role effectively ?” Critically examine. 10

50) ° Fe@” H 1 A BT ® ? I IAUROmET A F wdE & af e
Tifomg
- (i) W=
(if) BIEET IEHT
(i) T

What is meant by ‘Strategic intent’ ? Give brief explanation of each of these
concepts :

(1) Stretch
(1) Leverage
(1ii) Fit 10
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5.(c)

5.(d)

5.(e)

6.(a)

fRufy guR (ehrme) A @ aiefia fifm | Rl gar (Three) weifa
# e $ A= At | Rl gar @ % faftm gert & Rt feeear i |

Define Turnaround strategies. Discuss conditions for turnaround strategies. Also
discuss types of turnaround actions. 2+4+4

AR d @ ¥ 9 ¥ fRel AR @ AeEAee qeie e 3R
wRa ¥ frafa afg & faftm sl & wgam Hif )

Critically evaluate India’s foreign trade since independence and identify constraints
in India’s’ Exports Growth. 5+5

{-wraErs ¥ AT o @ wre Al | GRS e e
gftedq i vgam Hifg |

Elucidate the conceptual framework of e-business. Identify the significant changes
it has brought to business processes. >ED

) “frelt 3w Fr affe il & faem & @ S U ARt i e
£ 17 Serer 3 g wwE |

“Small-Scale Industries play a vital role in the growth of economic activities
of a country.” Explain giving examples. 10

(i) ERFR T @ AR & Wy fowm R whAar AR R € 7 faas
Hrfg |

How can Government initiatives expedite the growth and success of small-scale
industries ? Discuss. 5
s

(i) “TRaFR @ @mEEE Afafaiet # waw qE e ey |7 o gend € ?
el afed qHATSY |

“Government should not enter into business activities.” Do you agree ?
Explain with examples. 10
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6.(c)

7.(a)

7.(b)

7.(c)

8.(a)

(ii) “G@?ﬁaﬁrﬁvﬁmaﬁ@w‘iaﬁmﬂﬁﬁ'w%l”mm
feooft dfSrg |

“Privatisation of Industries has not achieved its objectives.” Give your
critical comments. 10

“Gqﬁmétmaﬁrﬁmzow(ﬁﬁq)%mﬁwﬁmwﬂgwmﬁm%|”
HN 3T T § 7 I9IH I o B M N U R o ¥ 9 s RSt @y
Fuiq hifSrg |

“Consumer Protection Act 2019 (CPA) has changed the business scenario in India.”

Do you agree ? Describe at least eight features of CPA giving suitable examples.
15

wﬁﬁmmmaﬁw&mﬁaﬁﬁqlwﬁﬁmmm%awﬁaﬁﬁﬁwﬁﬁql
mmﬁawﬁmm%m&ﬁﬁwﬁml

Define Strategic Alliances. Discuss the reasons for strategic alliances. Also discuss
types of strategic alliances with suitable examples. 5+5+5=15

fomm ok sfipren @ aforfie #ifg | fem ok afmen % word € faver
AT | I9gh STt A foom ok sfmem % weemt W A o faen
I |

Define Mergers and Acquisitions. Discuss the types of mergers and acquisitions.

Also discuss the important issues in mergers and acquisitions with suitable
examples. 5+5+5=15

BCGW%WWW%?WWWTWWWIWW

'v%amwﬁ%aﬁ%méaﬁ?wﬁ?ﬁnnﬁﬁﬁﬁm%ql

What do you understand by BCG Matrix ? Describe the four Quadrants of it
and also discuss its Strategic Implications and Limitations with suitable examples.
5+7+8=20

ST RN Hied WIH ITH R GHATTY | WY IAH F AT S A R
S |

Explain Joint Venture with suitable examples. Discuss the Life Cycle of a Joint
Venture. 7+8=15
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8.(b) waﬁ%aﬁﬁ%ﬂw%?aqgﬁamﬁv%amaﬁ%ﬁﬁﬁ%wﬁwrﬁamﬁ
ara fifim srat &1 avlA Rifg |

What is Foreign Direct Investment ? Describe with suitable examples the different
factors that influence Foreign Direct Investment. 5+10=15

8.(c) %ﬁwmﬁwﬁmﬁwﬁmlmmm
forelt T Sfaw ¥ warew # wnfie qede e i |

Elucidate the concept of Foreign Exchange Risks and Exposure. Discuss the

techniques included in Managing Foreign Exchange Risks with suitable examples.
10+10=20
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